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Solve each inequality.
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5) —584.9 <-729.9 + b 6) —861.4>-323.7—r
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7) 805.9 — x>-124.5 8) —741.5>-645+n
N 9;7 9;8 9;9 91:'»0 91:'»1 91:'»2 91:'»3 4 <—6:79 —6:78 —6:77 -6:76 -6:75 —6:74>
9) —1219.4 > a +(-935) 10) 1376.6 <600.9 — x
<—?.:86 —2:85 —2:84 —2:83 —2:82 —?_:81> <—7:78 —7:77 —7:76 —7:75 —7:74 —7:73 —7:72>
11) —113.4> x - (-269.6) 12) —1394.16 > —893.86 + v
&l 1 1 1 1 1 N
—386 —384 —382 —380 —378 \—5'03 —5'02 —5'01 —5'00 —4'99 —4'98 —4'97,
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15) p+395.8 < 1190.8

17) —-351.4 <n—(-68.4)
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16) x—(-474.7) <-337.8

: —8:14 : —8:12 : —8:10 : —8:08 :,
18) m +(~938.9) <—1639.94
\-7:04 -7:03 -7:02 —7:01 —7:00 —6:99,
20) 645.2<v+(-14.4)

22) —845.44 + x<-1510.14
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24) —1289.44 < n +(-478.6)
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26) a—651<-813.5
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28) x+ 186.8 > —467.1
—656 654 —652 —650
30) —944.9 > x + (-683.7)
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Solve each inequality.
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